
Date: 10/8/1998 Number: SB9807

Subject: New Cutter Housings

Details:
Z42 - Z48 - Z52 - Prowler Frontcuts - Prowler Midcuts

Beginning with serial # 27476, all Z Series Riders will have the new style maintenance
free cutter housing.  Part # 's and descriptions are listed below.

Please add part # 583106 for Blade Spindle Complete to your Parts Manuals.  Also note
that as of January 1, 1998, all Encore blade spindles carry a two year warranty.  

Thank you,
Encore Service Department

SERVICE BULLETIN

3/4-16 HEX NUT       104511
(**TORQUE TO 90 FT/LBS.)

ENCORE "Z" SERIES
MAINTENANCE FREE CUTTER HOUSING
FIELD SERVICABLE

3/4 LOCK  WASHER     105010 

SPINDLE BEARING        363350

 PULLEY SPACER       583110    

3/4 FLAT  WASHER S.A.E.      105269

 SPINDLE HOUSING        583111     

SPINDLE SHAFT            583112

  BEARING SPACER TUBE        583113

5/8 - 11 X 1-1/4  HHCS      100355

SPINDLE BEARING       363350

5/8 DISC  SPRING WASHER        583108

SPINDLE ASSEMBLY       583106

 Z42  423262  5" HEX PULLEY
 Z48  483078  5.75" HEX PULLEY
 Z52  523496  6.25" HEX PULLEY

Encore Part Number:  943068
Rev. A


